Technocrane s.r.o.
Podnikatelska 19
CZ - 301 00 Plzen

Czech Republic

Components List & Price

Programmable Telescopic Camera Crane
"TECHNODOLLY"

TECHNODOLLY

[ TECHNOCRANE |

Tel: +420-377889111
Fax: +420-377889100
info@supertechno.com
www.supertechno.com
ICO: 26353458

DIC: CZ26353458

1.1

111
1.1.2
1.1.3
114
1.15
1.1.6
1.1.7

1.2

BR R R RLRNPR

(=Y

Base
Motorized dolly base with four pneumatic wheels, four
wheels steering

Base with electronic unit

Tow bar

Lock bar

Push bar

Traction motor for moving on tracks

Crane pan motor with integrated emergency brake
Levelling jacks

Electronic Column

Electronic column with arm tilt motor, with integrated
emergency brake, internal 12V/14A and 24V/14A camera
powersupply.

Krajsky soud v Plzni, oddil C, vlozka 14852
Bank: Ceska spofitelna a.s., Plzefi, SWIFT (BIC): GIBACZPX
Account #: USD: 1406512, CZK: 1406272, EUR: 1406352
IBAN #: CZK (CZ09 0800 0000 0000 0140 6272), EUR (CZ80 0800 0000 0000 0140 6352)

1/5



[ TECHNOCRANE |

1.2.1 1 Camera monitor for grip (including down convertor)
1.2.2 1 Computer monitor for grip
13 Telescopic Arm

Maximum lens height - 4,7 meters

Maximum telescopic traveling - 3 meters

Adjustable telescopic arm speed O - 1,0 meters per second
Adjustable fluidity of telescopic start and stop

13.1 1 Telescopic Arm (3 section)
1.3.2 1 Back Guard Rail
133 2 Side Guard Rail

Cables inside Flexo Sleeve:

1.3.4 1 Main signal cable 1
135 1 Main signal cable 2
1.3.6 1 Main power cable
1.3.7 3 HD Video cable
1.3.8 1 Triax cable (specify connector)
1.39 1 115V/230V Cable for lamp

14 Counterweights
14.1 13 15 kg Lead Counterweights
143 3 2 kg Steel Counterweights
14.4 2 6,5 kg Side Steel Counterweight
145 4 4,5 kg Sliding weight
1.4.6 2 10,5 kg Steel Counterweights
1.4.7 2 160mm screw for counterweights
148 2 220mm screw for counterweights
1.4.9 2 Counterweights trolley

1.5 Autohorizon unit
15.1 1 Autohorizon motor unit

1.6 1 Overnight cover for crane

2. TECHNOHEAD 35
2.1.1 1 Pan Head with adjustable raiser
21.2 1 Tilt Head
213 1 Camera platform
21.4 2 320mm bar for d15 brackets
2.15 2 PAN motor Cable
2.1.6 2 TILT motor Cable
21.7 3 Coaxial Cables 3 meters

Krajsky soud v Plzni, oddil C, vlozka 14852
Bank: Ceska spofitelna a.s., Plzefi, SWIFT (BIC): GIBACZPX
Account #: USD: 1406512, CZK: 1406272, EUR: 1406352
IBAN #: CZK (CZ09 0800 0000 0000 0140 6272), EUR (CZ80 0800 0000 0000 0140 6352) 2/5



[ TECHNOCRANE |

2.2, Power cables for digital cinematography
2.2.1 1 Power cable for Arri 12V
2.2.2 1 Power cable for Alexa 24V
2.2.3 1 Power cable for Epic 12V
2.2.4 1 Power Mini Alexa Cable
2.3. On/off cables for digital cinematography
2.3.1 1 On/Off cable for Arri
2.3.2 1 On/Off cable for Sony F55
2.3.3 1 Of/Off /TC/SYNC/Power cable for EPIC
2.4. Shutter cables
2.4.1 1 Shutter cable for Alexa
24.2 1 Shutter cable for Epic
2.4.3 1 BNC universal shutter adapter
2.5. Cables for TV lenses
251 1 Canon TV lens Focus/Zoom cable
2.5.2 1 Fujinon focus cable
2.5.3 1 Canon digital lens cable
2.5.4 1 Fujinon digital lens cable 10pin
2.5.5 1 Fujinon digital lens cable 20pin
2.6 1 Autocue 17" Teleprompter
3. 1 CONTROL DESK
Joystick for Pan and Tilt
Ultra sensitive finger pressure joystick for Roll
FOCUS remote control
ZOOM remote control
3.1.1 1 Desk with pneumatic wheels
3.1.2 2 Detachable Pan and Tilt handwheels (only digital
3.1.3 1 Computer monitor
3.14 1 Broadcast monitor
3.1.5 1 Shelter for monitors
3.1.6 1 Video Splitter
3.1.7 1 Uninterruptible Power Supply APC 750
3.1.8 1 Down convertor HD SDI to composite
Crane external cables:
3.1.9 1 Mains Cable 3 meters
3.1.10 3 Coaxial Cables 25 meters
3.1.11 1 Emergency Stop Cable 25 meters
3.2 Overnight Cover for Desk

Krajsky soud v Plzni, oddil C, vlozka 14852
Bank: Ceska spofitelna a.s., Plzefi, SWIFT (BIC): GIBACZPX
Account #: USD: 1406512, CZK: 1406272, EUR: 1406352
IBAN #: CZK (CZ09 0800 0000 0000 0140 6272), EUR (CZ80 0800 0000 0000 0140 6352) 3/5



[ TECHNOCRANE )

3.3 Safety rocker
3.3.1 1 Safety Rocker
3.3.2 1 Cable for Safety Rocker 25m
3.3.3 1 Cable for Safety Rocker 3m
34 Remote start control
3.4.1 1 Blob plate with LEDs and 15 cable
4. 1 TRACKS AND TRACKWHEELS
4.1 Track wheels
4.1.1 4 Track wheels
4.1.2 4 Screws for wheels
4.2 Tracks
42.1 6 Track segments - 3 meters long
4.2.2 1 Cable chain for tracks
4.2.3 48 Levelling jacks of tracks (8 pcs. per 1 segment)
4.2.4 4 Buffer for tracks
4.2.5 1 Transport rack for tracks
4.3 2 Ramp
5. 1 TECHNODOLLY LENS CONTROL SYSTEM
5.1 Technodolly lenscontrol system
5.1.1 1 Digital Focus Motor
5.1.2 1 Digital Zoom Motor
5.1.3 1 Digital Iris Motor
5.1.4 3 Lens motor cable (Iris, Focus, Zoom) - 2,4 meters
5.2 Gears
5.2.1 2 0,50M Angenieux-Cannon,
5.2.2 2 0,60M Fujinon-Nikon
5.2.3 3 0,80M Zeiss
5.2.4 1 0,80M Zeiss - wide gear
5.2.5 1 0,80M Zeiss - 9mm
5.3 Brackets
5.3.1 3 Arri holder d19
5.3.2 3 Panavision adapter d 5/8"
5.3.3 3 Arri adapter d15
5.4 External Focus and Zoom control unit
5.4.1 1 Lens Control unit
5.4.2 1 Cable for Lens control unit, 15 meters

Krajsky soud v Plzni, oddil C, vlozka 14852
Bank: Ceska spofitelna a.s., Plzefi, SWIFT (BIC): GIBACZPX
Account #: USD: 1406512, CZK: 1406272, EUR: 1406352
IBAN #: CZK (CZ09 0800 0000 0000 0140 6272), EUR (CZ80 0800 0000 0000 0140 6352) 4/5



6.1
6.1.1
6.1.2
6.1.3
6.1.4
6.1.5
6.1.6
6.1.7
6.1.8
6.1.9

6.1.10
6.1.11
6.1.12
6.1.13

P P R RPRNNDMRRNRRR

6.2
6.2.1 2x4
6.2.2 4
6.2.3 2
6.2.4 10
6.2.5 2
6.2.6 2
6.2.7 2
6.2.8 1
6.2.9 4
6.2.10 4

6.3
6.3.1 1
6.3.2 3
6.3.3 1
6.3.4 1
6.3.5 1
6.3.6 10
6.3.7 10

6.4

6.4.1 1
6.4.2 1

Total price (EUR):

Delivery:
Warranty:

[ TECHNOCRANE |

TOOL CABINET

Tools

Spanner set 6 - 22

Spanner 24

Spanner 36

Spanner 46 for tightening the base cable
Allen key set 1,5 - 10

Ratchet with nut 17, 18, 19 + 24

Set of screwdrivers

Ratchet strap

Spanner 13,17 (yellow) - for the tensing of wires
Measurement tape (10m)

Spirit level (40cm)

Snippers

Caliper ruler

Spare parts

3/8" - 16x1-1/4; 3/8" - 16x1-1/2 (for camera plate)
Hexagon M10 x 43 (for tilt)

Washer plate for Tilt

Washer d10

Knob M8 x 20 - mediumhead (for Tow bars)

Knob M8 x 20 - smallhead (for autohorizon cable holder)
Knob M10 x 45 (for Sliding weights)

Brake handle

Nut M24

Nut M16

Additional material

Tine of colour (RAL 7016)
Set of gloves

Tin of vaseline

Cable ties small

Cable ties medium
Velcro cable black short
Velcro cable black long

Manuals
Crane manual English
DVD Supertechno

Timescale and shipping cost available upon request
12 months

Krajsky soud v Plzni, oddil C, vlozka 14852
Bank: Ceska spofitelna a.s., Plzefi, SWIFT (BIC): GIBACZPX
Account #: USD: 1406512, CZK: 1406272, EUR: 1406352
IBAN #: CZK (CZ09 0800 0000 0000 0140 6272), EUR (CZ80 0800 0000 0000 0140 6352)

€ 625 000,00

5/5



